cos(6) 0 sin(0)
M1 = 01 0
-sin(08) 0 cos(8)

M1
cos(@) ,00 sin(6)
,00 1,00 ,00
-sin(8) ,00 cos(0)
cos(1) -sin(1) 0
M2:=| sin(1) cos(1) O
0 01
M2
cos(t) —sin(t) ,00
sin(t) cos(t) ,00
,00 ,00 1,00
X Vx

M3:=mM1imM2.| Y |+ | M1 VY

V4 Vz
M3
cos(8) cos(1) X —cos(8) sin(1) ¥ +5sin(8) Z + cos(8) Vx +sin(0) vz
sin(t)X+cos(t) Y+ Vy
-sin(0) cos(1) X +sin(8) sin(1) Y+ cos(8) Z—sin(8) Vx + cos(8) vz
toC
cg[0] cos (theta) * cos(iota) * X - cos(theta) * sin(iota) * Y 4+ sin

(theta) * Z + cos(theta) * Vx + sin(theta) * Vz;

cgll] sin(iota) * X + cos(iota) * Y + Vy;

cg[2] = -sin(theta) * cos(iota) * X + sin(theta) * sin(iota) * Y + cos
(theta) * Z - sin(theta) * Vx + cos(theta) * Vz;

X:=10

Y:=0

Z =20

Vx =

Vy:=0



B _axis_rotation := 45
0 := evalf (convert(B_axis_rotation degrees, radians) )

C _axis_Rotation := 90

1 := evalf (convert(C_axis_Rotation degrees, radians) )

Ax
M3=| 4
&
17,68
10,00 | -
10,61

Ax
A

(5)

(6)



